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CLASS -V SUBJECT - ENGLISH

READING
|) Read the given passage and answer the question that
follows-
There are a great many million fish in the sea, but this
story is about just one of them and a very small one at
that. Now, this little fish had everything in the sea to make
him contended, but he was not happy. You will laugh when
| tell you why he was not. He was unhappy because he was
very small.
Q.1. How many fish was there in the sea?
(A) Thousand fish
(B) Billion fish
(C) Million fish
(D) Hundred fish
Answer: (C) Million fish
Feedback: As per the passage, there are a million fish in
the sea.
Q.2. Who was unhappy?
(A) Fish
(B) Mouse
(C) Cat
(D) Lizard
Answer: (A) Fish
Feedback: According to the passage, the Fish was
unhappy in the sea.




GRAMMAR
Choose the right option from the given questions-

Q3) car is this?
a) How
b) Whose
c) When
d) None of the above

Ans. B) whose is the correct option.

Feedback: Whose car is this? Whose is the correct
pronoun.

Q4) apple day keeps the doctor away.
a) The, A
b)An, A
c) A, An
d) An, The
Ans. B) An,a

Feedback: An apple a day keeps the doctor away.

Q5)They my friends.
a) Are
b) Was
c) Have
d) None of the above
Ans. A) Are

Feedback:They are my friends.




SPELLING

Q6) Ildentify correctly spelt word:
a) FRIDOM
b) FREDOM
c¢) FREEDOM
d) FREEDUM
ANS. C) FREEDOM

Feedback: Freedom is the correctly spelt word.

Q7) Choose the silent letter in the given word- “KNIFE”
a)K
b)F
c)l
d)N
ANS. A) ‘K’ has no sound in the given word.

Feedback: “k” is the silent letter in knife.
Q8) Identify incorrectly spelt word:
a) GOVERNMENT
b) PUNCTUAL
c) QUITEE
d) TELEVISION
ANS. C) QUITEE is the incorrectly spelt word.

Feedback: ‘Quite’ will be the correct spelling inspite
Quitee.

Vocabulary
Q9)Analyse the word relation and tick the correct option:
Breakfast: Morning
Dinner:

a) Afternoon
b) Lunch




c) Food
d) Night
Ans. Night

Feedback: Night is the correct relative word with dinner.

Q10) Choose the odd one out:

A. Teacher B. Doctor C. Engineer  D. Walking
ANS. WALKING
Feedback: Except walking other words are related to
profession.

MATHS

KNOWLEDGE & UNDERSTANDING
Q.1 Which pair of numbers add to make more than 500 ?
a) 152 and 241 b) 321 and 192
c) 99 and 299 d) 401 and 91
Ans —Db) 321 and 192
FEEDBACK : The pair of 321 and 192 make a number more than 500

Q.2 Fill in the blank ?

6x4=8x
a) 3 b) 4
c)5 d) 6
Ans —a) 3

FEEDBACK : When 8 is multiplied by 3,it gives 24 which makes the
RHS equal to LHS.

Q.3 How many centimetres are there in 1 meter ?

a) 10cm b) 100 cm

c) lcm d) 0.1 cm

Ans —Db) 100 cm

FEEDBACK : There are 100 centimetres in 1 metre.




Q.4 Convert the following ?
3000 meters into kilomerers
a) 3km b) 30 km c) 300 km d)
3000km
Ans —a) 3 km
FEEDBACK : There are 100 centimetres in 1 metre .

ABILITY TO COMPUTE

Q.5 What is the perimeter of a rectangular field which is 6 m long and
4 m wide ?
a) 20m b) 30 m c)40m
d) 50 m
Ans —a) 20 m
FEEDBACK : The length of the rectangular field ia 6 m .The breadth
of rectangular field is 4 m.perimetre of rectangular field = 6m
+6m+4m+4m =20m.

Q.6 Fill the correct operations in the given blank :
120 3 =360

a) + b) - C) x d) +
Ans -X

FEEDBACK : 120 multiply by 3 = 360

PROBLEM SOLVING ABILITY

Q.7 A hexagon has how many sides ?

a) 4 b) 6 Cc) 8 d)3

Ans -6

FEEDBACK: Hexagon is aregular polygon having 6 sides.

Q.8 There are 25 pens in a packet and each pen costs Rs 5. What is
the price of the packet of pens ?

a) 125 b) 200 c) 250 d) 120
Ans - 125

FEEDBACK : The cost of 25 pens at the rate of Rs 5 per pen is
equal to 125.




Q.9 A farmer bought 350 banana trees . he wants to plant 15 trees in
each row . How many rows can be plant and how many trees would be
left over ?

a) He can plant 45 roes and 15 trees would be left over

b) He can plant 20 rows and 50 trees would be left over

c) He can plant 23 rows and 5trees would be left over

d) He can plant 21 rows and 10 trees would be left over

Ans -c) He can plant 23 rows and 5trees would be left over
FEEDBACK :Because there are 23 trees in one row , so after
dividing 350 by 15 ,he will get 23 rows and 5 trees

would be left over.

Q.10 If you have to distribute 124 tomatoes equally in 4 baskets . How
many tomatoes will be in each basket ?

a) 41 b) 31 c) 51 d) 21

Ans —-b) 31

FEEDBACK : Equal tomatoes in 4 baskets = 124 + 4 = 31.

EVS

OBSERVATION & REPORTING

Q.1 Whose nest is made of all kinds of things including the pieces of
wire and wood ?
a) Dove

b) Crow

c) Indian Robin
d ) Barbet

Ans —b) Crow
FEEDBACK : A Crow’s nest is made of all kinds of things — even
pieces of wire and wood .

Q.2 Who is the first woman to lead a PARADE ?
a) Wahida prism
b) Kalpana chawla
c) Kiran Bedi

d) Saina Nehwal




Ans —a) Wahida Prism
FEEDBACK : WAHIDA PRISM was the first woman to lead a
PARADE .

Q.3 In which disease the mixture of salt and sugar with lukewarm water
s taken ?
a) Diarrhoea

b) Malaria — |

c)Typhoid D R“‘ ";

d) Fever =D \ v |
1

Ans — a) Diarrhoea |
FEEDBACK : When a person is suffering from DIARRHOEA , then
one teaspoon sugar and a pinch of salt in one glass of boiled and
cooled water is given .

Q.4 Which plant can grow in the cracks of the wall?
a) Neem b) Tulsi c) Peepal d) Rose

Ans - c) Peepal
FEEDBACK: The peepal plant can grow in the cracks of wall due to
the moisture present in the wall.

IDENTIFICATION AND CLASSIFICATION

Q.5 CNG stands for -

a) Central Natural Gas

b) Compressed Natural Gas

c) Compressed Neautal Gas

d) None of the above

Ans- b) Compressed Natural Gas

FEEDBACK: CNG stands for Compressed Natural Gas.




Q.6 ldentify the pictures and tick the correct answer .

a) This is a picture of Kerala.

b) This is a picture of Assam.

c) This is a picture of Rajasthan.

d) None of these

Ans —a) This is a picture of Kerala.
FEEDBACK : This is a picture of Kerala .

Q.7 Which of the following is an eco friendly fuel ?
a) Petrol

b) Wood

c) Coal

d) CNG

Ans —d) CNG

FEEDBACK :CNG is an eco friendly fuel.

DISCOVERY OF FACTS

Q.8 Where is pochampalli town located ?

a) Andhra Pradesh

b) Gujarat

c) Telangana

d) Goa

Ans —c¢) Telangana

FEEDBACK : The Pochampalli Town is located in Telangana .

Q.9 Where is desert oak found ?

a) Africa

b) America

c) Europe

d) Australia

Ans —d ) Australia

FEEDBACK : DESERT OAK is found in Australia .




Q.10 The alternate source of energy is -

a) Coal

b) Petrol

c) Solar Energy

d) Kerosene

Ans —c) Solar Energy

FEEDBACK : Sonal Energy is an alternate source of energy.




